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Identification of 'H and *C of compound 12

Numbering of 'H Signal | BCsignal | Numbering of | 'H signal 13C signal
proton and carbon proton and
carbon
( structure 7e)
( structure 7e)
1 71 4.64 T 64 8 1 2.60- 133
2.64
2 9 1 3.66- 7140
3.75
3 155 769 10 1 3.66- 744
3.75
4 [1542-546 | [ 67 11 7159 71104
5 [14.42-4.46 073 12 714.56 783
6a,6b 113.94,472 | 1159 13 [15.42 075
7 [15.72 1123 14 115.07 69.8
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TH-TH COSY of compound 12
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HSQC of compound 12
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NOESY of compound 12

0.0

0.5

-1.0

1.5

2.0

2.5

(wdd) 1y

3.0
3.5

—4.0

4.5

~5.0

5.5

6.0

6.5

®

3.0 25 2.0 1.5 Lo 0.5 0.0

f2 (ppm)

3.5

5.0 4.5 4.0

5.5

6.0

6.5

H Mwmmm



: 4 & F 1 &8 .
PE T - ZECE
s % eeEf e
mw”m, T .H.m_u.m am
£F'S 9 [ %=
L5757
£5°59 -
09°G 4
09°S | =
897 =2
96'5 4 % £60l
96'S 4 e #£6°0[
66°S + = 60
m_“_:m__aw & gnokz
£rro .
519 o m__u-s.
559 v [56°0| *
859
FS°L —
¥8'L .
86'L = o't
85°L

240
20

200

180

&0

140

F1z0

100

=

20

mv.hm
S84 “v.

BF' 15—

P58 =

ZE'S0T
8EETT
95°ETT
65°STT -
66°TZT
og'zzr/

EEPET —

P0'8ST =

PLLOT =

13, 68%

0

ppm}

!
¥

f1

T T T
140 130 120 114

T
150




